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The first question is compulsory.

Attempt any Fowr of the remaining questions.
All questions carry equal marks.
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I.  True or false, explain : 3x5

(a) If we observe that more ice-cream is purchased this
year than last year we may conclude that the demand
has increased and therefore the price must have

Increased,
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(2)

(b)) Demand curves are always downward sloping.

{(¢)  When marginal product is below average total product,

average product falls.

(d) The more elastic the demand curve for a given
elasticity of the supply curve the greater the tax
burden on the consumers in a perfectly competitive

market.

(e) A monopolist charges a price greater than marginal

cost.
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Explain : A drought around the world raises the total
revenue that farmers receive from the sale of grain
but a drought only in Punjab reduces the total revenue

that farmers in Punjab receive. 5

Draw the marginal cost, average variable cost,
average fixed cost and total average cost curves
in the short run for a typical firm and give their

relationship. 3

Is it possible for a reduction in the tax rate to increase
the revenue collected and reduce the dead weight

loss? Explain. 5
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(a)

(b)

(4)
Steel is used in the manufacturing of steel utensils.
If the price of steel increases, what will be the impact
of this, in the short run, on the supply curve of an
individual firm producing steel utensils and the market
supply curve for steel utensils assuming that the
market for steel utensils is perfectly competitive?
Assuming no change in the demand for steel utensils
what will happen to the equilibrium price of steel

utensils in the short run? 6

Consider a consumer who consumes only two goods
namely flour and potatoes. Potatoes are an inferior
goods. Can flour also be an inferior goods? Explain.
If the price of flour falls illustrate the impact on
the consumption of flour and potatoes using substitution

and income effect. : 3+6
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A per unit tax of ¥ 10 imposed on the buyers of
salt is equivalent to a per unit tax of ¥ 10 imposed -
on the sellers of salt if the market for salt is perfectly

competitive. 5

When a perfectly competitive indusiry is a constant
cost industry the long run industry supply
curve is a horizontal straight line. Do you agree?
Explain. 5

Define the marginal rate of technical substitution.
What role does this play in arriving at the minimum
cost for producing a given level of output? 5
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In a perfectly competitive market al! firms earn zero

profits in the long run. Why then do firms continue
to function in long run equilibrium? 4

Explain the relationship between the short run
average cost curves and the long run average
cost curve. 5

Draw the indifference map for the following :

(/) Consumer A who always consumes tea and
sugar in a fixed proportion and she adds two
spoonfuls of sugar to a cup of tea. (Indifference

map with sugar and tea as the two commodities.)

(if) Consumer B who is only interested in the total
amount of money she has (indifference map
with T 5 coins and ¥ 1 coins as the two
goods). ' ' 6
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A monopolist’s marginal revenue curve lies helow
the average revenue curve while for a perfectly
competitive firm the marginal revenue and the average

revenue are equal. Why 7 Explain. 5

Why is value of marginal product of labour the
demand curve for labour if the labour market and
the product market are perfectly competitive? What
will happen to the demand curve for labour at the
firm level and at the level of the market if the capital
in the economy increases (assuming that labour and
capital are complements rather than substitutes). What

will happen to the equilibrium wage? 446
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If a person spends a constant proportion of her income
on food what is her income and price elasticity of

demand for food? 4

Define price discrimination. Can perfect price
discrimination remove the dead weight loss associated

with a monopoly? 6

Show how a perfectly competitive firm may
continue to produce in the short run despite

suffering losses. 5
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